

**MEM-205 Περιγραφική Στατιστική**  
Τμήμα Μαθηματικών και Εφ. Μαθηματικών, Πανεπιστήμιο Κρήτης

Κώστας Σμαραγδάκης (kesmarag@gmail.com)

18-05-2020

# Άσκηση 1

$\{(10, 18), (20, 16), (30, 36), (40, 30)\}$

$$Y_n = A + Bx_n + \varepsilon_n$$

$$b = \frac{SS_{xy}}{SS_{xx}}$$

$$SS_{xy} = \sum_{i=1}^N (x_i - \bar{x})(y_i - \bar{y}) = \sum_{i=1}^N x_i y_i - \frac{\sum x_i \sum y_i}{N} = 280$$

$$SS_{xx} = \sum_{i=1}^N (x_i - \bar{x})^2 = \sum_{i=1}^N x_i^2 - \frac{(\sum x_i)^2}{N} = 500$$

$$b = \frac{280}{500} = 0.56$$

$$a = \bar{y} - b\bar{x} = \frac{\sum y_i}{4} - b \frac{\sum x_i}{4} = 21$$

$$\hat{y}_n = a + bx_n$$

x	y	xy	x <sup>2</sup>	
10	18	180	100	
20	16	320	400	
30	36	1080	900	
40	30	1200	1600	
<hr/>				
+	100	100	2780	3000

## Άσκηση 2

$$r_1 = \frac{SS_{xy}}{\sqrt{SS_{xx}SS_{yy}}}$$

$$\{(x_1, y_1), \dots, (x_n, y_n)\} \rightarrow \{(x_1, y_1 + \alpha), \dots, (x_n, y_n + \alpha)\}$$

$$y'_n = y_n + \alpha$$

$$SS_{xy'} = j$$

$$SS_{yy'} = j$$

$$SS_{xy'} = \sum (x_n - \bar{x})(y'_n - \bar{y}') =$$

$$\bar{y}' = \frac{1}{n} \sum_{n=1}^n y'_n = \frac{1}{n} \sum_{n=1}^n (y_n + \alpha) =$$

$$= \frac{1}{n} \sum y_n + \alpha = \bar{y} + \alpha$$

$$\hookrightarrow = \sum (x_n - \bar{x})(y_n + \alpha - \bar{y} - \alpha) = SS_{xy}$$

$$SS_{yy'} = \sum (y_n + \alpha - \bar{y} - \alpha)^2 = SS_{yy}$$

$$r_1 = r_2$$

# Άσκηση 4

$$\sum_{j=1}^{101} (j, 4j + 10(-1)^j)$$

$$\hat{\mu}_{y|x^*} \quad \hat{y}^*$$

$$b = \frac{SS_{xy}}{SS_{xx}}$$

$$\sum_{n=1}^N n^2 = \frac{N(N+1)(2N+1)}{6}$$

$$\bar{x} = \frac{\sum j}{101} = \frac{101 \cdot 102}{2 \cdot 101} = 51$$

$$\bar{y} = \frac{4 \sum j + 10 \sum (-1)^j}{101} = 4 \cdot 51 - \frac{10}{101} = 204 - \frac{10}{101}$$

$$\underbrace{50 \cdot 1}_{(-1+2) + (-3+4) + \dots + (-99+100)} - 101 = -51$$

$$SS_{xy} = \sum x_n y_n - \frac{\sum x_n \sum y_n}{N}$$

$$\sum x_n y_n = \sum n (4n + 10(-1)^n) = 4 \sum n^2 + 10 \sum n (-1)^n = 4 \cdot 101 \cdot 102 \cdot 203/6 - 510$$

$$SS_{xx} = \sum n^2 - \frac{(\sum n)^2}{101} \quad b \approx 4$$

$$SS_{yy} = \sum y_n^2 - \frac{(\sum y_n)^2}{101}$$

$$SSE = SS_{yy} - b SS_{xy}$$

$$\begin{aligned} \sum y_n^2 &= \sum (4n + 10(-1)^n)^2 = \sum (16n^2 + 80n(-1)^n + 100) \\ &= 16 \sum n^2 + 80 \sum n(-1)^n + 100 \cdot 101 \end{aligned}$$

$$S_e = \sqrt{\frac{SSE}{N-2}}$$

$$\hat{\mu}_{y|x^*} = \bar{y} + b(x^* - \bar{x}) = 31.9 \quad x^* = 8$$

$$\left[ \hat{\mu}_{y|x^*} - t S_e \sqrt{\frac{1}{N} + \frac{(x^* - \bar{x})^2}{SS_{xx}}}, \hat{\mu}_{y|x^*} + t S_e \sqrt{\frac{1}{N} + \frac{(x^* - \bar{x})^2}{SS_{xx}}} \right]$$

$$\left[ \hat{y}^* - t S_e \sqrt{1 + \frac{1}{N} + \frac{(x^* - \bar{x})^2}{SS_{xx}}}, \dots \right]$$

## Άσκηση 4

---

# Άσκηση 5

(α)  $N = 50$   $\hat{y} = -6 + 3x$ ,  $S_e = 8$ ,  $SS_{xx} = 40$ ,  $\bar{X} = 6$

$x^* = 14$

$S_{y^*} = \underline{S_e} \sqrt{1 + \frac{1}{N} + \frac{(x^* - \bar{X})^2}{SS_{xx}}}$   
 $= 9.712$

$\hat{y}^* = -6 + 3x^* = 36$

$\alpha = 0.05$

$df = N - 2 = 48$

$t_{row} P(T < t) = 1 - \frac{\alpha}{2} = 0.975$

$t = 2.011$

$[y^* - t S_{y^*}, y^* + t S_{y^*}]$

$SS'_{xx} = \sum_{i=1}^{s_1} (x_i - \bar{X})^2 =$   
 $= \sum_{i=1}^{s_0} (x_i - \bar{X})^2 + \cancel{(x_{s_1} - \bar{X})^2}$   
 $= SS_{xx}$

$b' = \frac{SS'_{xy}}{SS'_{xx}} = b$

(b)  $N = 50 \xrightarrow{(6, 12)} N' = 51$   $\bar{X}' = 6$

$\bar{Y} = -6 + 3\bar{X} = -6 + 3 \cdot 6 = 12$

$\bar{Y}' = 12$

$a' = \bar{Y}' - b' \bar{X}' = \alpha$

$SS'_{xy} = SS_{xy}$

$S'_e = \sqrt{\frac{SS'_{yy} - b' SS'_{xy}}{N' - 2}} = \sqrt{\frac{N - 2}{N' - 2}} \sqrt{\frac{SS_{yy} - b SS_{xy}}{N - 2}} = \sqrt{\frac{48}{49}} S_e$

$S'_{y^*} = \sqrt{\frac{48}{49}} S_e \sqrt{1 + \frac{1}{51} + \frac{(x^* - \bar{X})^2}{SS_{xx}}}$

$t' = 2.0046$

$[y^* - t' S'_{y^*}, y^* + t' S'_{y^*}]$

## Άσκηση 6

$$\{(40, 16.8), (50, 24.6), (60, 36.6), (70, 48)\}$$

$$\left(\frac{x}{10}\right)^2 \approx y \quad x \approx 10\sqrt{y} \quad g(y) = 10\sqrt{y}$$

$$\{(40, 40.99), (50, 49.6), (60, 60.5), (70, 69.28)\}$$

$$b \approx 1$$

Εκτίμηση

$$g(y) = \sqrt{y}$$

$$b \approx 1/10$$

## Άσκηση 6

---



# Άσκηση 7

$$X = \begin{bmatrix} \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots \end{bmatrix} \begin{matrix} \text{κππ} \\ \text{β} \\ \text{d}^{(1)} \\ \text{d}^{(2)} \end{matrix}$$

$$y = \begin{bmatrix} 1 \\ 2 \\ 3 \\ 4 \end{bmatrix}$$

$$P = (X^T X)^{-1} X^T y$$

	$d^{(1)}$	$d^{(2)}$	$d^{(3)}$
$\kappa$	1	0	0
$\pi$	0	1	0
$\theta$	0	0	1